V==X

FI T NESS PRODUCTS

MARCY CLUB
200lb STACK HOME GYM
MKM-81010

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.
Assembly Manual

190426




WWW.marcypro.com

©IMPEX INC.



©IMPEX INC. 2 Www.marcypro.com



£ =
@

@2 H ©
: -
€9~ 2 @ﬂ
_ @0 x 7 I
5t x 1
6# x 2

mm

o 1r 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

[III|IJIl‘IlH|HJI\JIIII]III‘IJII‘IJH‘\IIIIIIII|IHI[H[J‘IIH|HII‘IHI‘IIHlHII|IIII|HI\|IHI‘I|||||III|IIII|HH|HII\IIII|IIII|IHI|\IH|IHI|IHI|HH‘IHI|HII|III
U I U
" 2” 3” 4” 5” 6”

O©IMPEX INC. 3 www.marcypro.com



©IMPEX INC.

@ =
| [[ ==
o () =
@2 E|
©2 x 10 [] U;—E §—_ i
() @ E[RE
i @ =
QI U x 4 i
x 14 1
. -
x 1
mm
0 1 2 3 4 5 6 bi 8 9 10 11 12 13 14 15 16 17
mmHmmmHhMmmHWWLMMAHMmmHmMNHMHmHmmmhmhMuﬂmMnmmMnMMmemmhthuMmmH
”\“|WH|“‘|HI“|WW|“||H|“|q”|“|wu|“IWH[“lwH|“|W”|“[WHIUIWH\H|WHH|UM|H|
0 1” 2”’ 3”' 4” 5” 6”
4 www.marcypro.com



M10 x 3 3/8"

® 2

M10 x 347

(m

©@ x2

M10

© 8

@ x2

@ %"

©

() x4

WWW.marcypro.com

©IMPEX INC.



M10 x 3 3/8"

M10

s

o f

%

WWW.marcypro.com

©IMPEX INC.



WWW.marcypro.com

©IMPEX INC.



fC—=m M10x33/8

x2

M10 x %~

©
8
|

®B0

WWW.marcypro.com

©IMPEX INC.



b}
s = X
© o o 5
x o= X & %
o o © © X

— — — — . ~—

xxxxxx

@0 @6

WWW.marcypro.com

©IMPEX INC.



M10 x 2 %"
M10 x %
Qa/‘l!

M18

:_m&

- o™ ™ o~
x x x x

®0 6 6

WWW.marcypro.com

10

©IMPEX INC.



Q%
@ 5/8”
M8

M10 x %"
M10 x 5/8”
M8 x 7/8

a

@= =
(]
(]

N 3] o~
x X X X

®® 0606

WWW.marcypro.com

11

©IMPEX INC.



M10 x 6"
M10 x 3 3/8”
M10 x 2
@

M10

SANMNMNN

©IMPEX INC.

12

WWW.marcypro.com




WWW.marcypro.com

13

©IMPEX INC.



8-B
8-C

om

WWW.marcypro.c

14

©IMPEX INC.



©IMPEX INC. 15 Www.marcypro.com



10

©IMPEX INC.

16

WWW.marcypro.com




1%
11/8”

3 3/8”

XXXXX
[~ ] o o

111111
KKKKK

® ® @G

11

WWW.marcypro.com

17

©IMPEX INC.



1 1
=
T

b

WWW.marcypro.com

18

©IMPEX INC.



M8 x 3 3/8”

———am

M8 x 1 5/8”
M8 x %"
@ 5/8

™ ™~ o]

® ® @

WWW.marcypro.com

19

©IMPEX INC.



M10 x 5/8”

(
©

x12

Q%

x12

WWW.marcypro.com

20

©IMPEX INC.



WWW.marcypro.com

21

©IMPEX INC.



©IMPEX INC. 22 Www.marcypro.com



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.marcypro.com
support@impex-fitness.com

©IMPEX INC. 23 Www.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

